n flj_SR [%] fF_SR [%] n Ow+—utv [ pb ] OW-—u-v [ pb ]
(2.00,2.25) 1.62+0.39 1.84+0.30 (2.00,2.25) 188.4+1.2+4.0+3.2 1089+09+24+1.9
(2.25,2.50) 1.75+0.41 1464028 (2.25,2.50) 175.3+0.9+3.6+3.0 1028+0.7+22+1.8
(2.50,2.75) 2.414+0.50 1.034+0.25 (2.50,2.75) 151.3+0.8+2.6+2.6 942+0.7+1.6+1.6
(2.75,3.00) 1.43+0.40 0.724+0.23 (2.75,3.00) 120.3+0.7+2.0+2.1 86.7£06+£18=£15
(3.00,3.25) 2.01+0.50 0.934+0.31 (3.00,3.25) 924+06£1.6£1.6 79.0£06£16+£14
(3.25,3.50) 1.51+048 1714051 (3.25,350) 604+05+11+1.0 67.2+05+1.6+1.1
(3.50,4.00) 2.32+0.50 1.224+045 (3.50,4.00) 588+ 05£1.0£10 94.0+£0.7£16+£1.6
(4.00,4.50) 2.05 £ 0.47 0 (4.00,4.50) 141+04+£04+£02 429+0.7+1.3+0.7




